for 17}

\m SRR

S T O C I
CLEARANCE

WEEK 2




B NOTE



q

A

1. o5 ®lZto)

i

o)z Wz by A

e
o

JI2AL,

Changes in economic development, political
organization, and socio-cultural value system in a
society are attributed to technology. However, what
these perspectives don’t seem to acknowledge is that
technology is called into existence by a particular set
of historical circumstances that shape and define that
technology. One must understand that set of
historical circumstances if one is to comprehend the
effective relationship between technology and
society. Contrary to popular belief, technology is not
politically neutral or value free; technology definitely
determines the socio-cultural  structure and
communication patterns of a given society. In other
words, Western technology cannot be adopted
without

Science and technology are much more than the
mere instruments they were expected to be; they
cannot be borrowed or bought.

@ going after the neutrality of its usage

@ putting aspects of Western science in practice

(3 putting aside historical circumstances of the West
@ achieving a similar level of economic developments
(® taking in aspects of Western culture at the same time
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The underlying force behind popular psychology is
the need for constant change. By teaching us to
structure our experience exclusively in terms of
problems (or ‘challenges’) and solutions, the self-
help industry keeps us on a never-ending treadmill.
There is no sense that you can relax, that things
might actually be good enough as they are, or that
even if they aren’t so great right now, this might be
something to be tolerated and endured rather than
fixed. Although | suspect he was referring to the
problems of the Middle East, the Israeli politician
Shimon Peres once said something profoundly true:
‘If a problem has no solution, it may not be a
problem, but a fact — not to be solved, but to be
coped with over time.” However, popular
psychology is having none of that. Instead it

Ct
tells us not only that things can be improved but

also that it is our responsibility to improve them.

(D prevents us from pursuing a solution to a problem
@ lets our incompleteness go with the flow

(3 feeds off our dissatisfaction with ourselves and our lot
@ discourages any alteration to things and ourselves
(® puts off the process of fixing irregularities
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Some genetic characteristics can be expressed only
during specific periods in the life of an organism. If
an organism dies before the characteristic is
expressed, it never has the opportunity to contribute
to the overall fitness of the organism. Say, for
example, a tree has genes for producing very
attractive fruit. The attractive fruit is important
because animals select the fruit for food and
distribute the seeds as they travel. However, if the
tree dies before it can reproduce, the characteristic
may never be expressed. By contrast, genes such as
those that contribute to heart disease or cancer
usually have their effect late in a person’s life.
Because they were not expressed during the
person’s reproductive years, they were not selected
against, because the person reproduced before

. Therefore,

such genes are less likely to be selected against than
are those that express themselves early in life.

@ the production of the gene was obvious

(@ the effects of the gene were apparent

(3 the selection process of the gene set in

@ the influence of the gene was vague

(® the characteristics of the gene were optional
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When we discuss knowledge, we often focus on
theoretical ‘knowledge of the head’ and overlook
practical ‘knowledge of the hand’. Indeed, there
seems to be something of a prejudice against the
latter. For example, the abstract knowledge of the
scientist is generally held in higher esteem than the
practical knowledge of the car mechanic or the
craftsman. This prejudice may derive from the
widespread assumption that our capacity for reason
is what distinguishes us from the rest of the animal
kingdom. However, it could be argued that our
ability to manipulate things is just as unique, and
that the hand with its opposable thumb is as good a
symbol of human intelligence as the head with its
bulging cranium. There is a sense in which know-
how is prior to, and more fundamental than, know-
that. After all, we need basic skills, such as the
ability to speak and the ability to manipulate objects,
before we can

* bulging: &5 W2 ** cranium: 7=

@ control objects manually

2 make sense of know-how

(3 explore the fields of biology

@ acquire any kind of knowledge

(® break down a widespread prejudice
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There are two fundamental approaches to designing
an intelligent system. In the human approach, one
looks at how people do things and then attempts to
get a computer or robot to perform them the same
way. In what has been deemed the ““alien” approach
researchers use whatever means they have at their
disposal to create an ability regardless of the way it
might be executed in people. It may be that human
attempts are always doomed to failure because of
engineering limitations, while the alien approach,
which is free to pursue other options, can succeed.
An example of this comes from flying. Early attempts
at flying involved recreating as closely as possible
the actions of birds. These devices had flapping
wings. Eventually, the airplane was invented that
could fly successfully, but

@ its process followed in the footsteps of the early attempts
(2 its mechanism was modeled after a bird

(3 its operation only loosely resembled that of a bird
@ its appearance had nothing in common with a bird
(® its technology made big progress
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The superstitions of baseball players are legendary,
as much a part of their peculiar subculture as rosin
bags and chewing tobacco.

(A) In our scientifically advanced society, this
behavior seems paradoxical. Our understanding
of the natural world tells us that these signs and
gestures cannot possibly affect the events at
which they are directed, yet superstition is
extremely common, if not universal.

(B) They fear the jinx, wear lucky socks, and place
faith in the power of “rally caps.” But superstitions
are not unique to athletes. Many people — most of
us, in fact — hold beliefs that are irrational. For
example, it is widely thought that the position of
the stars at the time and place of one’s birth helps
determine one’s health, physical characteristics,
personality, and future destiny.

(C) Although evidence does not support the validity of
astrology, millions of people throughout the world
believe in it. Furthermore, many people carry
good-luck charms or engage in simple acts, such
as knocking on wood or crossing fingers, that they

hope will prevent bad fortune and bring on good.
* charm: #-3|

@A) —(©) — (B)
®(®B)—(C) — (A
®(©) —B) — A

@®) — (A —(©)
@ () —(A) —(B)
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This community has little need for many of the
advanced tools that we are familiar with and lives a

comfortable life with minimal technological intervention.

A kid who did the equivalent of throwing gum on the
sidewalk in an ancestral clan risked adverse effects to
his or her reputation.

As human civilization has become more complex, it
has a need for more complex systems and tools.
Traditional societies that depended on agriculture for
subsistence had fewer requirements. People worked
on a farm from morning to evening and returned
home when it became dark. (@D ) There was no need
for much more than a secure place to live, food to eat,
and basic clothes. ( @ ) Their tools were designed for
basic living. ( ® ) Some communities still live this
sort of life, as seen with the Amish people in various
parts of the United States. ( @ ) On the other hand,
most people living in the twenty-first century want the
comforts of technology in their lives. ( & ) Basic and
applied research have produced new tools that help to
fulfill those wants (which eventually become not just

wants, but need.)
* subsistence: A<, 2 * A& ** intervention: 7] Y

Children raised in modern westernized contexts may
have a hard time discriminating what’s possible in
modern situations versus what would have been
considered appropriate under ancestral conditions. (@)
In a large city, a child can throw chewed gum on the
sidewalk without much cost. ( @ ) And I think this
probably happens — at least in New York! ( 3 ) Under
ancestral conditions, engaging in such socially
questionable behavior would not only be more likely to
get noticed (remember, it’s a small group), but it would
be more likely to lead to punishment and harmful
effects on one’s reputation. (@ ) A kid who does this
on the busy streets of Manhattan does not. ( & ) We
need to raise our children not for the busy streets of
modern Manhattan, but for the small, tight-knit villages

that typified the environments of our ancestors.
* clan: & ** tight-knit: 3t~} 21

= typify: (~2]) 5742 YEUt
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Noncontrolling language is communication that is
nonevaluative,  flexible, and informational.

Autonomy-supportive  teachers ~ communicate
classroom rules, requirements, and expectations
with informational and noncontrolling language.
Such language avoids rigid, pressuring phrases such
as have to and got to. For instance, instead of saying
“You must work harder” and hence closing down
students’ autonomy and communication, the teacher
might openly invite the student into the problem-
solving situation, saying, “You may want to
participate” or “I’ve noticed that your writing
doesn’t quite have the same spark it did last week;
would you like to talk about it?” In these two
examples, the teacher supports both the classroom
requirement and the student’s autonomy. In contrast,
a teacher with a controlling motivating style
verbally pushes and pressures students toward
without enlisting the student’s input or
perspective (e.g., “You must improve your
spelling.”).
* autonomy: A&/
** enlist: (92 @Yol A A 5) 25ttt

@ defiance
@ independence

@ compliance
(3 resistance
(® participation
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The Greeks may have borrowed heavily from
Egypt in order to arrive at their first full-sized, free-
standing figures. But the schematic principles of
Egyptian practice were not transplanted. On the
contrary: instead of working from grids and fixed
mental images, Greek artists turned directly to the
actual or intended subjects of their representation.
Of course, not all these objects were visible. The
poets could weave tales about many-headed
monsters, but illustrating them remained a task for
the imagination. But the gods on high, the heroes of
the past, and contemporary patrons all shared the
same essential form — that of the human body. To
represent such subjects, to create a virtual reality
with  art, required  Greek  artists  to

and use their

eyes. So they did.

* schematic: =A]& Q1 ** grid: AR}, 444t

@ resort to their creative imagination

(2 illustrate the stories of Greek mythology

(3 depart from convention and use their eyes

@ employ subjectivity and move away from realism
(® combine the characteristics of poetry with their work
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To explore the effects of mood on communication,
researchers asked either happy or sad participants to
accept or reject the videotaped statements of targets
who were questioned after a staged theft, and were
either guilty, or not guilty. The targets were
instructed to either steal or leave in place a movie
pass in an empty room, unobserved by anyone, and
then deny taking the movie ticket. So some targets
were lying and some were telling the truth when
denying the theft. Those in a positive mood were
more likely to accept denials as truthful. Sad
participants made significantly more guilty
judgements, and were significantly better at
correctly detecting deceptive (guilty) targets.
Negative affect thus

in the observed interviews. A signal detection
analysis also confirmed that sad judges were more
accurate in detecting deception (identifying guilty
targets as guilty) than were neutral or happy judges,
consistent with the predicted mood-induced

processing differences.
* staged: Y- TR ** theft: D=

@ is associated with an inclination to deception

(2 leads to using a variety of detection strategies

(® never turned into positive one after the experiment
@ improved the accurate distinction of truths from lies
(® is more likely to cause the subject to commit stealing

J

"

12. 70}7 2 Thgoj o]0}z 29| &A 2 7}

0.

2
i)
o

Approximately 7,000  residents live in
Copenhagen’s city center. On an ordinary weekday
evening in the winter season a person walking
through the city can enjoy the lights from about

7,000 windows.

(A) The strategy works well in Copenhagen, where
the city center has buildings between five and
six stories high, and there is good visual
contact between residences and street space.

(B) The proximity to housing and residents plays a
key role in the feeling of safety. It is common
practice for city planners to mix functions and
housing as a crime prevention strategy and thus
increase the feeling of safety along the most
important streets used by pedestrians and
bicyclists.

(C) The strategy does not work as well in Sydney.
Although the Australian metropolis has 15,000
people living in its heart, the residences are
generally from 10 to 50 stories above street
level, and no one who lives high up can see
what is happening down on the street.

* proximity: =4, 7H7k=

@ A)—(©)—®B)
®B)—(©)—®
®©O)-B—®

@ B)—(A—(©)
@ (C)—(A)—(B)
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Life is so familiar and ubiquitous that it is easy to
forget how astonishing it is, and how sharply living
things differ from those that are not alive. Living
things draw matter and energy to themselves,
maintain their identity, reproduce their own Kkind
and evolve over time.

Martin Buber taught that there are two kinds of
relationships: 1-Thou and I-1t. As an example of the
difference between the two, imagine heading to
work on a daily route that includes a stop at one of
the corporate coffee chain stores.

(A) Every living thing is made up of cells, either
one cell or many, and every cell is itself a
highly integrated ensemble of millions of
molecules structured in space.

(B) And yet there is nothing in those laws that
would lead one to expect a universe that harbors
life. At the heart of the mystery lurk cells, the
elementary units of life and the smallest entities
that display all its characteristics.

(C) Nothing else in the known universe has this
capacity. Living things are made up of lifeless
chemicals; their composition, and everything
they do, is consistent with the laws of physics
and chemistry.

* ensemble: (Z3H) £
** Jurk: (=0l = & &EA|) £2)5kct

@A) —(©) —(B)
@ (®B) — (C) — (A
®(©) —(B) — A

@®) — (") —(©)
@ (©C) — (A — (B)

(A) The dull routine has broke; you discover that,
unbeknownst to yourself, your presence makes
a difference. Leaving the shop, instead of
dragging with fatigue as usual, you realize your
mood has lifted a little, thanks to the reaction
you received. Buber would say that this
exchange was I-Thou.

(B) Then, one day, instead of a muffin, you order a
whole wheat bagel with no-fat cream cheese.
The barista smiles and comments, “On a diet?”
and you are taken by surprise, to the point of
embarrassment. Here you thought that the
counter clerk did not even recognize you, let
alone remember what you eat.

(C) You place the same order each morning, get the
same stuff, throw down the money and pick up
the change. This automatic, mechanical, “It’s
early! I’'m sleepy!” interaction with the person
behind the counter is the kind of relationship
Buber would call I-It.

* thou: 1, TAl ** unbeknownst; ~= X =7

@A) —(©) — (B)
®®B) — () — (A
®©)— B — @A)

@®B) — (A — (C)
@ (©C) — (A — (B)
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It is discipline inasmuch as your teen is learning that
when he chooses to go out side of the rules,
boundaries, family contract or law, there are also
consequences.

Discipline through logical consequences. ( @ ) The
idea here is to try to teach, usually through logic,
ways your teen can learn the connection between his
choices and his actions and behaviors. ( @ ) This is
not punishment. ( ® ) For example, by choosing to
violate a curfew, your teen also chooses to lose his
freedom to drive the car. (@ ) Or if he won’t put his
helmet on while skating (even though you have
nagged him repeatedly), then he forfeits skating for a
prearranged time period. ( ® ) Good discipline spells
out the consequences ahead of time and then enforces

the rules without question.
* curfew: A7t AIZF ** forfeit: (AHF, H ] 52) Hgdgsict

During World War 11, the Danes saved many Jews
by sailing them from Denmark to Sweden. The Nazis
realized that the Danes’ fishing boats must have
hidden compartments, so they began using specially
trained dogs to sniff out the Jews.

(A) When the Nazis came around with their dogs, the
fisherman would find a way to let the dogs sniff
their handkerchiefs, perhaps by “accidentally”
dropping them on the ground.

(B) These dogs were so gifted that they could smell
the Jews even after they had been hidden and a
load of fish had been dumped over the entrance to
their hiding place. Therefore, Swedish scientists
developed a way to keep the dogs from sniffing
out the Jews.

(C) They created a powder made of dried rabbit blood
and cocaine. The dried blood attracted the dogs,
and when they sniffed it, the cocaine dulled their
sense of smell. Danish fishermen began to carry

handkerchiefs contaminated with the powder.
* sniff out: ~= WA &2 Zrojujct
** cocaine: 711 (coca] YAl A FH = vk A, mhef)

@ (®B) — (A) — (©)
@ (C) — (A) — (B)

@A) —(©) — (B)
®®) —(©) — A
®©)— B’
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A Dbottle or bag of fertilizer, whether synthetic or
organic, usually displays a set of three numbers that
look something like this: 6-6-4.

(A) As an example, leafy plants prefer nitrogen-rich
fertilizers for growing healthy and green, so
choose a mix that shows the first number listed
(nitrogen) as the highest. A balanced fertilizer has
an equal proportion of all three nutrients and can
be used as a general all-purpose fertilizer. No
sweat.

(B) These three numbers are called the NPK ratio and
refer to the relative proportions of three main
nutrients in fertilizers: nitrogen, phosphorus, and
potassium (in that order). Plants require a host of
trace minerals and secondary nutrients beyond
these, but these are the three biggies.

(C) This numbers business can seem like an added
chore; however, understanding the numbers on
the bag will help you choose the right fertilizer
mix for the job.

* phosphorus: Q1 ** potassium: ZH&

@A) — (©) — (B)
®®)— () — A
®(©) —B) — A

@®) — (A —(©)
@(C)— (A — (B)

As you pass the first familiar landmark on that walk,
you develop an image that somehow connects that

familiar landmark to the first point in your speech.

A mnemonic device that uses imagery is known as
‘the method of place.” Here you form an association
between something you want to remember and a
particular location on a familiar walk. (@ ) Let’s say
that you have to present a speech about healthy eating
habits in one of your classes and that your speech
consists of seven main ideas. ( @ ) You simply
imagine yourself taking a very familiar walk. ( ® )
For example, the image of a tree with a nest of baby
birds could help you remember that you have to begin
providing healthy foods when children are young.
( @) You continue in this manner until you have
developed an image connecting each point in your
speech to a landmark. ( ® ) Then, when it’s time to
present the speech, you simply imagine that you’re

taking that familiar walk.

* mnemonic: 7] 92 5=

11
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comprehend the effective relationship between technology =

and society. Contrary to popular belief(A), technology is

not politically neutral or value free(A); technology

definitely determines the socio-cultural structure and

communication patterns of a given society(B). In other

words, Western technology cannot be adopted without
(B). Science and

technology are much more than the mere instruments(A)

they were expected to be; they cannot be borrowed or

bought.

(@ going after the neutrality of its usage I Voca bulary Test

(2 putting aspects of Western science in practice

. e 1. be attributed to 1. ~of 7|5tk

(3) putting aside historical circumstances of the West

@ achieving a similar level of economic developments 2. perspective 2.3

(5 taking in aspects of Western culture at the same time 3. acknowledge 3. ~2 olxfaict
4. be called into existence 4. (FA7H g =l
5. comprehend 5. o[sh5tct

Sheean.T’s Comment 6. popular belief 6. 3 (myth)
7. neutral 7. 5242
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The underlying force behind popular psychology is the
need for constant change. By teaching us to structure our
experience exclusively in terms of problems(or ‘challenges’)

and solutions, the self-help industry(A) keeps us on a s 20 M ' °
never-ending treadmill(A). There is no sense that you can 2ol A g T A 2| fSR2tE o| 42 1x|7|Eets 3 A
relax(B), that things might actually be good enough as they oF Bt 7jolats ojAlo| ojct Z= B.3j|of| ClsH H25tn QoI 74
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fixed(A). Although | suspect he was referring to the

2 A7} oft|2t ApAdo|ny, siZE|ofof & Zdof ofL|2f A|7to] T2
problems of the Middle East, the Israeli politician Shimon
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Peres once said something profoundly true: ‘If a problem TA S EEofoh T Aol ST HhS RlRhE 2 AS worS
has no solution, it may not be a problem(A), but a fact(B) — Ol 2=t ol 272 2Rak 2ol thEh 2le] 2ol &
not to be solved(A), but to be coped with over time(B).’ He deth 22 2ol ol /i 4 Qs Eaofat 2
However, popular psychology(A) is having none of that. A& 7Wdske ol f2|9f Adolztn Hgtct.

Instead it (A). 1t tells us not

only that things can be improved but also that it is our
responsibility to improve them(A). [334]

@ lets our incompleteness go with the flow as it is

(2 prevents us from pursuing a solution to a problem

(3) feeds off our dissatisfaction with ourselves and our lot

@ comes up with solutions in the light of one’s psychology

(5 explores the causal relationship between a problem and a I Voca bUIary Test

solution
1. underlying 1. 2249
2. constant 2. A &A1

Shean.T’s Comment o
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Some genetic characteristics can be expressed only
during specific periods in the life of an organism. If an
organism dies before the characteristic is expressed, it never
has the opportunity to contribute to the overall fitness of
the organism. Say, for example, a tree has genes for

producing very attractive fruit(A). The attractive fruit is

important because animals select the fruit for food and
distribute the seeds as they travel. However, if the tree dies
before it can reproduce, the characteristic may never be
expressed(A). By contrast, genes such as those that
contribute to heart disease or cancer(B) usually have their

effect late in a person’s life(B). Because they were not

expressed during the person’s reproductive years(A), they

were not selected against, because the person reproduced

before . Therefore,

such genes are less likely to be selected against than are

those that express themselves early in life(A).

(@ the production of the gene was obvious
(2 the effects of the gene were apparent
(3) the selection process of the gene set in
@ the influence of the gene was vague

(5 the characteristics of the gene were optional

Shean.T’s Commentt
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| Vocabulary Test
1. characteristic 1. 84
2. contribute to 2. ~of| 7|ofslCt, ZFoict
3. distribute 3. Mz a|ch(ely)
4. reproductive years 4. 847 17F
5. be select against 5. ZEH=|Ct
6. apparent 6. 25Tt
7 7
8 8
9 9
10. 10.
11. 11.
12. 12.
13. 13.
14. 14.
15. 15.
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| KISS Logic £7| EE!

4. ohE W7ol Soid T2 7P A A A=A L. A|Ag =8 o, 22l Eo| o233l ‘f2|e] 2|40 2Hg £1
AR & A" 2 THaRRITt AP, F2fof| thal| 2F7he| T
When we discuss knowledge, we often focus on of Ol 7 ZIT} G2 Sof, Tfetate| ZAFHOl X[ALL oluio 2
theor.etical ‘knowledge of the head(A)’ and overlook AHE 2} 2| Do|Lt Tof7ho] Aol RA|HLl Cf £ 2742 i
practical ‘kn?wledqe of -the-hand(B)’.-Indeed, there seems olc}, of2 HHO oS AFESHS 92|0| Lato| 2|2 Linjz| &
to be something of a prejudice(P) against the If':\tte-r(B). Fc-)r 2 et TeHE) 2o Holabe Wa| HAl 7PojA AL A o)
example, the abs-tract- knowledge of the smentlst(A)- is Cf. ShR[Sh AL2.2 ZAte 4 o/ Saje| L1 qimtstatel &
generally held in higher esteem than the practical APHOI AANIFE £ Eoh, O B 4 Ol olxjAslate ALl &
kno.wl<.edqe of the car mec.hanic or the craftsman-(B). This o 22 L2 EIHES ALl Ofajata o7k AL 0l £ AfAlo[an
pre|ud|ce.(P) may  derive .from the Wld.espread x4} 4 02 o[k, of | SJE| 2 AIR{o A{ALS o[22l ]
assumption(P) that our capacity for reason(A) is what -
distinguishes us from the rest of the animal kingdom. HEEE PN H TRHOIR B, f2ls o B2l 2MolE
However, it could be argued that our ability to manipulate HSY 4+ Aol Fohs SHA MRS 24Tt SHA T2
things(B) is just as unique, and that the hand with its Zledilzles 2o s st
opposable thumb(B) is as good a symbol of human
intelligence as the head with its bulging cranium(A). There
is a sense in which know-how(B) is prior to, and more
fundamental than, know-that(A). After all, we need basic
skills(B), such as the ability to speak and the ability to
manipulate objects, before we can :
* pulging: &5 L2 ** cranium: &0
@ control objects manually I VocabUIary Test
2 make sense of know-how L theoretical 1. o|2Ato]

(3 explore the fields of biology
@ acquire any kind of knowledge 2. overlook 2. 7Fatotrt
(5 break down a widespread prejudice

3. prejudice o ARl
4. abstract 4. 24l
st T’ © " 5. be held in high esteem 5. 2Tl 23St
A: D212 A L9 o] 2 2JA] 6. derive from 6. ~2HE Lfert
- AO L Al |
B: &3 MM L2 HEA A 7. assumption 7.7k
&'d: A7 BELCE F 250t A7t
Wz} B2} ARCH 2 QBlCH Az 8. distinguish A from B 8. AS BESE {L-EoCt
HI7to| Azf2|2tE AE mpelslH 48, «off 72| 2|40l & & 55} . S
Chape AZ 2 A olict, 9. manipulate 9. ~2 ZZoiCt
2 9EF. 10. prior to N 10. ~o[*dof|
® 245 £02 CtZCB) 11. 11.
@ L5195 olal3tt(B)
@ YE3f Hobg &7ichoff) 12, 12.
® AT 1Y EttSiT(off) 13 13
He @,
) 14. 14.
15. 15.
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5. T RIZtol] 5012 T2 71 - AS A2 2. 2|58t AlARIS AAIBHE Hie F 71| 22Q!1 420l Sl
UL 2 HolM =, AfRtEol Y& ots A2 B0 LM, HF
ere are two fundamental approaches to designing an E{L} 250| 7 QS 7to HEA O 2 F7| BFE 2 A|EStC) co|RIA
Th two fund tal approaches to designing JLh 280 3 Yg 722 A Al BE 2 A= ghct, 0|3
intelligent system. In the human approach(A), one looks at oI’ Z{atolaln AiZfElo] 2 HIAlOML, HRRFEL ofE Lo
how people do things(A) and then attempts to get a A2t | A|BHE! A o) HEAIDLE Dabgly)| O 5249 OhSofLy
computer or robot to perform them the same way. In what 7| 2ol 2H41S0| OFSCHE & 4 Q& Zdo|H A ACto|EX| AL
has been deemed the “alien” approach(B) researchers use SHCE TN A e Y 387|122 T 2ol i 2ol
whatever means they have at their disposal(B) to create 22| 2229k chE dElE AR 2ok oAl HE2
an ability regardless of the way it might be executed in ‘38 4 ULk o] 42| g A= st ZollM B ZECE 27]9
people(A). It may be that human attempts(A) are always B3 Al=oll= Mio| BEE 7Hs T B 25| Alists Aol 2
doomed to failure because of engineering limitations, while EIZIE). o7l H2IE2 MRl FHE L UNEL EEl0 3T
i ich i i Mo g 4 s |7 HPEARIT, 2749 2212 T2| A2
the alien approach(B), which is free to pursue other options,
. . 747} CH2Fd 0 2 Crofo
can succeed. An example of this comes from flying. Early AR R OE HRE EolTt
attempts(A) at flying involved recreating as closely as
possible the actions of birds(A). These devices had flapping
wings. Eventually, the airplane was invented that could fly
successfully, but
@ its process followed in the footsteps of the early attempts
(2) its mechanism was modeled after a bird
(3) its operation only loosely resembled that of a bird I Voca bulary Test
@ its appearance had nothing in common with a bird
] _ 1. fundamental approach 1. 224U A
(® its technology made big progress
2. what has been deemed 2. ~2t1 ofAZ| = H
3. the “alien” approach 3. “2f2h A
Shean. T Comment 4. whatever means they have 4. 50| A& 4 Q= ofH
1. % at their disposal SOl E2]
Not A A|: o] 242 JH2 2, But B YA APt ot 24 5. execute 5. ~g Algisct
£ o2 — Ae| B52 Bol 75| 243 (]I
6. be doomed to 6. ‘Uo| ~oict
2. 25
© 3o 27| A2 232 HSlelh 7. resemble TS E
@ 2127t ME 2SR 8. 8.
@ 2|Yo| Mot F-54ol 5 GICH(HA| £4)
®7140| 2 2122 ol29cHoff) % >
3. 20155 AE 445 HIGHA| 917 S HIAT 2R E 3 S 29l 10. 10
4. §2]: 8ol U HAOIIS WY S wtets Aol o] ML H
2f, Lot it ofe thde "R Tf2fohs A 12. 12.
of2f= 7!
13. 13.
T o
14. 14,
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6. 702l Z thgoll olod 29 &M Z 7P A A2 1= OF A4-59f Ol4le AU, 2140l W= el 22|04
A2 159 7lofgt sfglste] Ysolct 152 YIAE Sajglstny,
Yo YYZ AL, 2| Bafo| YZ Urt otr(Tt olilo] 25
The superstitions(P) of baseball players are legendary, as M4 EQ0| 70 ofL|C}, DrO AfREES AJS 93| CHE Ho| H|o|A{A
much a part of their peculiar subculture as rosin bags and olaleg 7+7 olct of|2 Sof AfZlo| EHoih A|ZFaf RFAOfA] &
chewing tobacco. Of YI=|7F 2 Affel A%, AlHIM 4, 444, 22|1 njeie] REE
FYote ol ol Flok F2f AYZielch vlE e B
(A) In our scientifically advanced society, this behavior Z7{7} SlHbIE 22| OFz|Tt X Af|AH|e| AHHOF 0do| AfEFE L T
seems paradoxical. Our understanding of the natural Zdo| ot =ct I Hotof|at, Bk Afito| sifeo| BA{S I}
world tells us that these signs and gestures cannot Z| D EpLALE LR R E2|7| Ee A2 TIW7| 72, 228 o
possibly affect the events at which they are directed, 85t YRS 7hE et 7|chshe THetet B2 Bhoh 2tk
yet superstition is extremely common, if not universal. O 2 BT Q2| AtZ|oflM, o] &2 JHHQ Aoz Helct zfed
(B) They fear the jinx, wear lucky socks, and place faith in MAlol| gt 22|2f ofali off HHet M A7t 271F0] A5t
the power of “rally caps.” But superstitions are not £ Aol 2245 J3g oA 4 gictn o F2|qk ojhle BHY
unique to athletes(A). Many people(B) — most of us, in 2 o2t atejate YUz Eott
fact — hold beliefs that are irrational(P). For example,
it is widely thought that the position of the stars at the
time and place of one’s birth helps determine one’s
health, physical characteristics, personality, and future
destiny.
(C) Although evidence does not support the validity of
astrology, millions of people(B) throughout the world
believe in it. Furthermore, many people(B) carry good- I Vocabulary Test
luck charms or engage in simple acts, such as knocking 1. superstition 1.0Al

on wood or crossing fingers, that they hope will
prevent bad fortune and bring on good. 2. peculiar subculture 2. 5olgt otelzet

* charm: 5-24]

3. paradoxical 3. FdHel
@A) —(©) —(B) @(@B) —(® —(© 4. common 4. &3t
®®) —©)—® @ (C)— (A) — (B)
@ (C) _ (B) _ (A) 5. universal 5 EJTIL_;&lOI_
6. be unique to 6. ~oi| 7ot
Shean.Ts Commentt 7. irrational 7. 8ol/gHel
Zof2l Z: OIS P2 AolEL e 8. determine 8. BHotet
9. validity 9. fa’d
(B) or (C): (B)ol|~1 TheyZt 012! Z baseball players-& &rot3G4Aq
Of 4529|0412 ofof7tet, 10. prevent 10. ~S of|Ef5tof
- 11. 11.
(A) or (C): (A)2] this behavior’} 74235t 31 E (B)2| 0F|afa} (C)2
of|2folM "Bf5'o| e FE2 Eel (C)2 ofx|2f £&3F fFo|ct. 12. 12.
(B)-(C)-(A)!
13. 13.
T2 Q. 14. 14.
15. 15.
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7. 29 EF0 & Hol, Foj Fi o] Foj7t)ol 7 A-e U7t ZHo| HE E4fotA 7ol B S3fet Al AR £ rof| gt

xZ B o7k ek 22 2lol sgoll ofR[HH HeHU Ael= Hagt

10| &f It AtRfE2 ORI RE 7R oM UYL ol F

This community has little need for many of the advanced 9JZ|3f 2|0 2 EofZict, Al OIGH OFMGE R A TS SAl 7|EAO]

tools(B) that we are familiar with and lives a comfortable o|2 HCt M Of OFS 742 T g} ofoict 150| £ L 7|20l

life with minimal technological intervention(B). AErS olaf| Dotel Zio|oiCt 0jZo| ofz{ z|odof| Q)= AmishT} A
=,

%I-E A [m=] [ [ |_ %—%2| AC’)"%"
As human civilization has become more complex, it has a S %JQ3tC}, o] Mgl Qa|of|A| Q4T RHE £ & oro e
need for more complex systems and tools. Traditional of chat LWe It He| 91 2|ATte| B}St 7|40l 7HQOto 2 otat
societies(A) that depended on agriculture for subsistence St AFZ AfCH BIA, 21M|7| & Ats CHERO| AtE-2 24412 4fo|
had fewer requirements. People worked on a farm from M 2fst 7|40 otatehe flgtct, 7| % Aot S8 e (A=
morning to evening and returned home when it became dark. £ &0l 22| ¢t HeTt =) 225 8325 FFA17|= O
(@) There was no need for much more than a secure place EBE F= MER & SOt
to live, food to eat, and basic clothes(A). ( @ ) Their tools
were designed for basic living(A). (3 ) Some communities
still live this sort of life(A), as seen with the Amish people
in various parts of the United States. ( @ ) On the other
hand, most people living in the twenty-first century(B) want
the comforts of technology(B) in their lives. ( & ) Basic
and applied research have produced new tools that help to
fulfill those wants (which eventually become not just wants,
but need.)
* subsistence: A<=, 2] A& ** intervention: 71 Y I VocabUIary Test
1. advanced 1. 135
2. minimal 2. 2| 43t9
3. intervention 3. 70
4. civilization 4.7
5. complex 5. 5%&ot
i el
S| T’ © ) 6. requirement 6. 24121
7. in various parts 7. CIOfSH 2|
* gapo| §l= =4 =AICH o] B8, AlFel T2 ol & & Yot . -
gl o TEeEes 8. fulfill 8.~2 ZZA|7|ct
of gttt of 2|22 4 Y71 = A S AtEl, 7|2 25 E2), 4%
Bl BRIMZI, 7I&)&2 Ligch ol 242 B7F e Sie 9. 9.
communityS Ystd, Tt A FEof| So{zfok it 'This 10 10
community' - = -2 eS| 481 oF 24 ofQl ofo|4| AtE5f
of eict. 11. 11.
12. 12.
Ep=iCil 13. 13.
14. 14,
15. 15.
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8. 29 5528 Ho}, Fol FHo] Eoj7}7]of 71 A AG HCHO| Mot SH7ol|M zfet OFOI%% A2E9| JegollMztd
XE AEAL. YT Ao 2 IR &S Ant HLHO| AJEollM 7t5T Ae 1E
ot Hl of2ig g FeR e R2rh 2 E*Ioﬂ M oto|= CHR2 S
A kid who did the equivalent of throwing gum on the Z ti7h glol BEof 3 4 QIeh D21 L ASHA offd Yo
sidewalk in an ancestral clan(A) risked adverse effects to LOITH AT, Mok &= FoloH 25| Aol
his or her reputation(P). M O23EAtgIMo 2 FA|=|= 5ol Hoist= A2 =oll & 7t
‘dol 52 22 BRfot|at (A2 ATHYE 7Iotat) 2{tHat 2o
Children raised in modern westernized contexts(B) may fzﬂr;ii;ﬁjﬁkzﬂ% :?é z?ﬁ;:zié ;OOE" ;L fj
have a hard time discriminating what’s possible in of mutol| o5 2 7Fosof Bt A1 BF Ho|ch. BHHE o] Hxst
modern situations versus what would have been 7{z|oflA{ 0| ©JS Bt ofo|= T&z| otc}. La|i FiCH DhsHEo)
considered appropriate under ancestral conditions(A). H23} 73|z} ofL|at La| MRE0| &740| EAS LiEfLHL 2t
(@) In a large city(B), a child can throw chewed gum on o7t 71et opgof| A 22| ofo| 5 7|& Tt Qlet
the sidewalk without much cost. ( @ ) And I think this
probably happens — at least in New York(B)! ( ® ) Under
ancestral _conditions(A), engaging in such socially
guestionable behavior would not only be more likely to
get noticed (remember, it’s a small group), but it would be
more likely to lead to punishment and harmful effects on
one’s reputation. (@ ) A kid who does this on the busy
streets of Manhattan(B) does not. ( 5 ) We need to raise
our children not for the busy streets of modern Manhattan, I Vocabulary Test
but for the small, tight-knit villages that typified the
environments of our ancestors. UG I L2t 5T I
*clan: T ** tight-knit: -3-t)7} 2105 2. adverse effect 2.9a1t
= typify: (~2]) 57442 Uetulth
3. westernized contexts 3. Mtatel A

4. have a hard time discriminating 4. ~g TRt ol Zct

5. what would have considered appropriate 5. 243t 7i0 2 7t3=/918 7

6. ancestral 6. A129]
Shean.™s Comment
7. without much cost 7. 2 ch7t lof
* Olo| |2l ofz|0t 7k x5 AN ABE 2t00{ Z L{2{Q L7} 4 . . . = =
e sme s 8. socially questionable behavior 8. Afg|A{ o 2 o4 ARd o5
1 5 Z4ollM 'does this'ol| 717} oF E4ollM o #5224 F1 2t
4 'such socially questionable behavior's £F=Ct & 4 QJ7iICt, & 9. punishment 9. {4
22+ I does notol| I DI7-al{ 284, of BAko| EARL 2 EAFwouldo| .
°° 10. reputation 10. gt
7|0l 'would not©| Z|ofof FiCt, miafA 48Hof| F0i2| F24-Z H O
'does this'= 'did the equivalent of..'S, 'does not'2 'risked adverse 11. 11.
effects..'S H2FO DA 2FEGH2ICE,
= 1 2ok o 12
He @H. 13. 13.
14. 14.
15. 15.
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e
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JIZAL,

Noncontrolling language(B) is communication that is

nonevaluative, flexible, and informational(B). Autonomy-

supportive(B) teachers communicate classroom rules,
requirements, and expectations with informational and

noncontrolling language(B). Such language(B) avoids rigid

pressuring phrases(A) such as have to and got to. For

instance, instead of saying “You must work harder”(A) and
students’
communication(P), the teacher might openly invite the

hence closing  down autonomy  and

student into the problem-solving situation, saying, “You
may want to participate” or “I’ve noticed that your writing
doesn’t quite have the same spark it did last week; would
you like to talk about it?”’(B) In these two examples(B), the

teacher supports both the classroom requirement and the
student’s autonomy(B). In contrast, a teacher with a
controlling motivating style(A) verbally pushes and

pressures students toward (A) without enlisting

the student’s input or perspective(B) (e.g., “You must

improve your spelling.”).
* autonomy: A&
** anlist: (‘ég "EE}I O]L}— X] X]%—) JOJ_%B‘]—\:}—

(2 defiance
@ independence

@® compliance
(3) resistance
(5 participation

Shean.Ts

n

s ot gAl AB A5 St |2, Tol7t Rt

r

A Hof(A): PEEoAH +5, =52 2717 vs.
H| &A1 Ao{(B): Y52l Hoiet 2k SAl.
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LoIHA 2 A7 oS Eg S
O & AfH[OIM WALE WALl @ AFgfat S| 2tg4d 2&E %
2|gtct ojet ciz Mo 2, BAHA OB F7|E Holots REQ| wAt
£, 39| oot S eyatr| ofn B0l £ EStEE Y
2 Yo{go|L UHEZ It (G & 501, “He HALHE T4
74oF giCh™)

| Vocabulary Test
1. noncontrolling language 1. Hl&A| 1o
2. nonevaluative 2. {II5IR| o=
3. flexible 3. 5879 UL
4. rigid 4. JATH
5. spark 5. I
6. requirement 6. 2727
7. verbally 7.UE
8. compliance 8. &3
9 9
10. 10.

11. 11.
12. 12.
13. 13.
14. 14.
15. 15.
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10. Th& 1Tk Sojz B2 7P A3 A A2 Q. JB|A AES 2|22 A 37|9| 2R[cH glo| AE QB4 of
27| floiM oY E 2 REf of B2 A5 AEYEA| = BECE D

The Greeks may have borrowed heavily from Egypt in 2IL} oA E Q| WA HfAlo| EA|MOl 2|52 o|Alg|z| orofct
order to arrive at their first full-sized, free-standing figures. oL sihoich 2, 12| A0| D|47FEL HRFRL|ef TAEl AlAl
But the schematic principles of Egyptian practice(A) were 02 25t CHAl AlIHOl B2 o|E &l 2p7|S 0| FH ChAL o
[ L [ T T el =2 | [ —

not transplanted. On the contrary: instead of working from
grids and fixed mental images(A), Greek artists(B) turned

O o
2 M ko
b

o
L
m

J
-0
o
i
o
=2

3]

g

di
o

[¢)
©
N
TS

L ofL|ofCt, A| 2 ojz|7} o]
. . . . [ AN =2 [Ehy
crecB). 1o (tg; el o nended SRS BLST g gl 23458 JURE ek 22 ofts] ARl
representation(B). course, not all these objects were _
- ) Hok 2 BhIick. D2t -2 Fof 9t AlS, 2He] B3 S, 1]
visible. The poets could weave tales about many-headed oot o o _ il % oletlol el o
. . . 1 Frio| FARE 2 253U 7| 2HQU HE, S Q|| FEHE
monsters, but illustrating them remained a task for the 2.0 GHE}. T3 CHARS ‘BHGHE . & 0|42 o] TAID ChEYf
. . . . SRt 1k = o= A, 5 08z 712 =4 L&
imagination(P). But the gods on high, the heroes of the past, cne T e e N ! - *
. € A YRote A2 12|14 Ole7tEolAH Haol sofLf 24l
and contemporary patrons all shared the same essential
O T2 AHESIEE Qsick DA 252 it

form — that of the human body(B). To represent such

subjects, to create a virtual reality with art, required

Greek artists to (B). So they did.
* schematic: T=A] 2] Q1 ** grid: Z A}, |24

@ resort to their creative imagination
@ illustrate the stories of Greek mythology

(3) depart from convention(A) and use their eyes(B)
@ employ subjectivity and move away from realism

_ - o | Vocabulary Test
(5 combine the characteristics of poetry with their work y
1. borrow from 1. ~ERE{ 2+8oiCt
Shean. T’s Commentt 2. heavily 2. Bol, oA
A O E: 7| &0 (A A ol A ol ] 3. arrive at 3. ~of| =&oict
B: 22| A AA| th/doll HF, & 7He] Aol A5
- [}

0| 2|28 & ufjo] SAl-2 F7tol| 212, A2 ofa of7 o] Falx| L 4. afigure 4. 2704, =

71 3 GHAl g _l_7l\_0|oZI_9_ Jz2| Aol ‘Zlo|A’ I:roEZH—EOI _
LTy E | | b 32| Ao| zfolH 1 4 3 5. transplant 5. o|Als}ct
Ct. E5|Lt 4| H2Y £ instead of 2 not A but BE L& 545t Q)
1, 0|3 Et D2| A7} mental — actual 2 H3| HiEIJ_ olct, & 6. fixed 6. N
OIYERISE W/, %= AHETIAIRE 28| AQIS2 “HAI chi/goll A olzleie
Folli] 272 Yok 2 Mo T2 3, ABol Yojt 150 T-MmMEON U=l SRR

Lo At2G FA =
e AR A 4 ol 8. an intended subject 8. 2| = CHAt
oLt
@D ‘259 2fo|H AtAtEdo|| o|ZTiCl — 0|2 E Q| of7 |7} =|AICt 9. representation 9. B¥, BA}
g1

Bl _ o 10. visible 10. 7FA[AHQL, I
@ 22|A 4lg} ojof7| & HHRICE — godset heroesE &-&%F, 1
LMo Bol= SiAa|l <Y E ARl TR HE HlofRiol —» 11. weave 11. %4ct
Al BiCH, TFR|2fH oY E & )
@ ‘23S Aol THAl 2 HE] BlojitTl — oA| HiCH, mhz| {5 of 12. illustrate 12. /dgstct, of| -stct
Z2|E & _

5= 13. a contemporary patron 13. el =z}
® ‘Ao 542 259 AFol AHER YT — FAl- Als
Zol|7| oo o|YE &, gich! 14. virtual reality 14, 7Hd A
cro @) _ _ _
S ot 15. require A to V 15. A7} ~5tE 2 @ oict
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11 o5 NIkl Soi2 B2 7P HEe A g a2 L. 7|%o] elata o ojzl: AL G| ol HPAIEL W
StALt & 71EE L7l Y oitEolAH Rl R Eeh A
To explore the effects of mood on communication, 7 o|Zof| Al2-2 Hio} @ z[o|7Lt, 2|7} ofil (o2 T At
researchers asked either happy or sad participants to accept 2t o| Lo} 2142 HlolSo|HLt HEGEE QYC), HIC|Q o
or reject the videotaped statements of targets who were At £0| AFRFE 2 Lto| B3| OFS 3l HI ol %SRS Bx|AHL
questlo_ned after a staged theft_, and were eltr_ler guilty, or E HAt2lo| EE2, 12D 7 % 4StEE 2pH7F AL Holshy
not gL?llty. The targe_ts Weret instructed to either steal or 2 2N 2 HIolT) T2{0 2 AC Ho|2 Holg m Aj2S ols L 7|
Leave in placeda rr]nov(;e passklrl an r:empty _roo_m',(unosbserved A19rS 517 QlHL IALS r5hD oJold Aojoich 2l 7|8
y anyone, an _t en deny taking the mo-V|e ticket. So some 2 Lyl A% afof2{S2 Jziot Hol(S.SUS o2 olofctn ar
targets were lying and some were telling the truth when L one _ - L . o
) _ . ote WS UET Aoz ghob3d 7hedol o EUCE &L 712
denying the theft. Those in a positive mood(A) were more o _
. . - 2 L7l A oirtEe f2 TE " o ol U, e
likely to accept denials as truthful(A). Sad participants(B) o B ]
o S £ol= (F2lel) AMdes sl 7tee A g H A 3ok 2
made significantly more guilty judgements(B), and were
o . i . {02 BH2% o|_| 7|-1-|% :ﬂl__|-ik I:Id?Ho-iA 7|\_|AI-| 7421 0] Z—Ii_‘}-t_lj_}- 5
significantly better at correctly detecting deceptive (quilty) 122 AU oY 2 Bl A e B o
A L2490 TEAIA|ZAL _|:l|:_z‘l,-_|-}\|i7r1 _E_H 7:1;!_5_A% 24 0| AIAFS
targets(B). Negative affect(B) thus oHE BT N A A Bate S E e A
A o|E 0 22|Mo|HL} SHESI 7| HOo| AlAFe|o|E HL} 20|12 o 2T}
in the observed ._EI_FH—||'| o= L ||_ ||:| |'T|._E I'—H:le o™
. . . . . . G| ZFZ|BICF= (L 2|01 AFRREL O 2|at ] QlotHLCEE) AFAIL TE2
interviews. A signal detection analysis also confirmed that o A= (R MRS R2REILL Sorerhs) AHdE 53
a . - a oFod L= AlE] 7+ 5] o S C &l 2 24 Ak
sad judges were more accurate in detecting deception 313100 of= ofAfl Biet ZHo| 7| Roi| ofaf f= & Xz| 24t
. A q s . X | G
(identifying guilty targets as guilty) than were neutral or 2folef YR STt
happy judges, consistent with the predicted mood-induced
processing differences.
* staged: L2 FQ ** theft: A= I
Vocabulary Test
is associated with an inclination to deception : =
© _ _ _ P : 1. videotaped statements 1. 8|C|Q &Y &
(2 leads to using a variety of detection strategies
B ann A 2 o
(3 never turned into positive one after the experiment 2. guilty 2. 72/9|
@ improved the accurate distinction of truths from lies 3. leave in place 3. A|2fz|of] £t
(5 is more likely to cause the subject to commit stealing
4. make judgement 4. TR L2 (o)
5. detect 5. ~2 E|ofct
Sheen.T’s 6. deceptive 6. £0l=
A: 234 7|52 713 2fofz} 7. signal detection analysis 7. 415 &3] 24
B: £ 7le-2 71l Hoint 8. neutral 8. S
AECtB YTho| of AAIL 8.2 ‘distinction(7t, THE) g A&l5|
25| 9. consistent with 9. ~of Ytk
10. 10.
2. 2%
M £2of| cist Adaknt 2tado| QlcH(off) 11. 11.
@ TS SR MG ARG 72 2 ofofRick(off) " 1
@AY 7 el Y 7120 2 utPz| 3teHoff) ' '
® TH27H e oA E 7Hs4dol B =QUTH(off) 13. 13.
cre @ 14, 14,
15. 15.
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1z

12. F0i7 2 3o o]ojd Zo] &AE 7P FHAES AES 1 CHEf 72 o] ARR7F FHISHIf £ A| F4lof Aot H2H B
BAL. oh 3 & Aol Al £2 2 AR 273 71| R0l Lo
HSES &2 4 ot FEYF A;atFate| 22 ot Zbol| aiA

Approximately 7,000 residents live in Copenhagen’s city ofate Shch SA| AH|El AR 0| H2| o) Mako B A 7|5 at =
center. On an ordinary weekday evening in the winter EHS T3f5jo] HERIel XIS EF Aj2FSo| o| 8Bt F1At &
season a person walking through the city can enjoy the 28 722 wa} oFZIS kol O S5t Mtolct, 1 M2rO
lights from about 7,000 windows. Susplol Eabt 2], 1 SA| ZAlL 5-63 o] Afo[]

o o m o .

(A) The strategy works well in Copenhagen(A), where the ff_‘a Z: :jjj jj;i?;;:f:i;AZ:'ojl:RjE?lzj
city center has buildings between five and six stories Tt - | e e T
high, and there is good visual contact between FEAIE S8R oll 12T F8 Aol 4 AT, AFohe
residences and street space. ol YL H2IE 7IE 22 100K 503 ol #lol Slot, &2

(B) The proximity to housing and residents plays a key role RO At ARE ofe= of2ll 72lolid & Dol Doftia 3=
in the feeling of safety. It is common practice for city Al & 4 Qlr
planners to mix functions and housing as a crime
prevention strategy(S) and thus increase the feeling of
safety along the most important streets used by
pedestrians and bicyclists.

(C) The strategy does not work as well in Sydney(B).

Although the Australian metropolis has 15,000 people
living in its heart, the residences are generally from 10
to 50 stories above street level, and no one who lives
high up can see what is happening down on the street. I Vocabulary Test
* proximity: =4, 77h8 1. approximately 1. cHzf

@ (A)—(C)—(B) @ (B)—(A)—(C) 2. good visual contact 2. ST A HE (1)

®@E)-©C)-® DEO-AW-®) 3. play a key role in 3. ~of WA JY-Z sict

®(©)—((B)—A)
4. common practice 4. 239ty

5. crime prevention strategy 5. 2| of|&f H2f

Shean. T's Comment 6. pedestrians 6. Hegz}
Zo0f7l 2: 20| 7000% ALt HE Zol, 7. metropolis 7. HHEA
(B) or (C): (B)TH2f2 & 417+ giEdl (C)Thaf-2 ool To| QF et 8. story 8 2
‘0 M2 A EL|olAs 2 0E(as well) &22b7t QlEb 2ty af2iH, o
ofl B2p7+ Q= Ho| A7} Liefof ek, (B)E], o °
(A) or (C): 812 U #[o|AZ A AIEL| #o|AZ BZ 3o 10. 10.
ek 24 4. o] Higdo| £2 o|8= AQ| the strategy2}l C2| the 11 11
strategy” | & CF 2| of|f} 2ko 2 7h2 748 2|3 ok|qt, Mzhe 3 .
HisHilol|M = =1, TR A|EL|oflM <t Eleh= of7| 2 ofof|=A| 12. 12.
. 2740] well(H) — as well( 252 Z)Z o|of2| = "BAF FIELD
zo0 13. 13.
e @H. 14. 14,
15. 15.
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13. Foi3! 2 Cfgol ofofd 2o M2 7HY PRt g nEAle. a2 |2 245t offofut 22f5to] 0| Yot =2k,
J2|1 Y2350 Aot AA| 2 A5t HofLf F30| oHER| A

Life is so familiar and ubiquitous that it is easy to forget olt{2|7| 4Jct. AHEXSS 22T} of|fz|2 zfAlo|A| ToiQ 11, 2t
how astonishing it is, and how sharply living things(B) 7| Expg e %ZIfTH’_, 27| ZHAIO| 2 HAIA|7| 1, A|7t0| & 26
differ from those that are not alive(A). Living things(B) A ZIBHBICH a2l © Zojli] ofH CFE 75 off S92 7bD 9Jx|
draw matter and energy to themselves, maintain their ofct Ay S *ng0| o 1512 AE 2 o|2jxf 9Jr| 1S9
identity, reproduce their own kind and evolve over aae Ja|p JSo| sf DE oo, Sajo} ojste| MASD B
time(B). 0| et JB|E 13 YASolE 442 A3t Sl 928 of
. L , AOHA & oFRAUE EABIR| YEECt O g7tAelf s ol A=

(A) Every living thing is made up of cells(B), either one L Rl AT . AU el o7 A Bt

cell or many, and every cell is itself a highly integrated
ensemble of millions of molecules structured in space.

(B) And yet there is nothing in those laws that would lead
one to expect a universe that harbors life. At the heart
of the mystery lurk cells(B), the elementary units of
life and the smallest entities that display all its
characteristics.

(C) Nothing else in the known universe has this capacity(B).
Living things(B) are made up of lifeless chemicals(A);
their composition, and everything they do, is consistent

with the laws of physics and chemistry.

* ensemble: (2StHEl) £

* lurk: (40l =[2] o47i) Zfatct | Vocabulary Test

- ubiqui OfCfolLf Qs
D @A) - (C) - (B) @ B) - (A) - (C) 1. ubiquitous 1. ofc|of|L}
®(®) - (©) - A @C)-@A -®B 2. astonishing 2. =2t
®(@©) - (B) - A

3.draw A to B 3. AE BE Zo{zolct
4. reproduce 4. ~5 SAotct
5. evolve 5. 2lgtatet
Shean.T’s Comment 6. over time 6. Al7F0| Z|LITAA
—T_ ;I(_I %: differ fromo‘”*-l Hl’i E‘kg%:il- }\g%% ABZ ﬂof-;f—omF 7. be made up Of 7.~2 —?—}\gih:l'
ot
8. integrated 8. 53
(B) or (C): (B)TF % those laws 22(0fz} &2k (C)TF2Ho| this
capacity”?} 30421 2 ofz|afof| Q= Bo| 528 7ta|7Ict. (C) B4, 9. molecule 9. B2f
(A) or (B): the laws — those laws2 B2 (B)& ©o|o{z| 11, (B)OflA 10. harbor(v) 10. ~2| MAJR |7} =|Ct
AB2| 2fo|7} “cell’o|zt= ZdS 42 FH, o cell 7| E7t (A)Z o[of - 210
2|2 7 gtoly 11. elementary 11. 7|z #9l
tro @i, 12. capacity 12. 534
13. chemical(n) 13. otetEA
14. be consistent with 14. 2f Y=|otef
15. 15.
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14. 0121 2 C}20f o|of&l Zo| A2 7}3f MMt S DEA|Q. Martin Buber-= Lo} 1" 72|30 ‘Lte} D74 0lats & 74x| Z29|
LA QIEtD 7F2XCE O F Afole] 2fo| & BojRE AlR|Z, 7

Martin Buber taught that there are two kinds of 9J5d Hm| H[OI% Tt LS S 2 QafR{o| 22719 AbAtolHaf Of
relationships: 1-Thou(A) and I-1t(B). As an example of the Qojz|zte 208 51 ZFS 7S HE EQ Ifjaje ) HAEES
difference between the two, imagine heading to work on a 20| ECt, AAICH Slof| 9= AfZknt o|&iA| Lo| D 7|AX o 2
daily route that includes a stop at one of the corporate “O|2 A|Ztoj{|2! EE|Y|leratn Wdte HE o AT 2ArEo|
coffee chain stores. Buber?| ‘Lto} 7402ty 22 tA|o| §3fo|ct, ICirf ofL
ol chihloll R2|% 32|27t Foi7F FY Ho|Z22 FETchet

(A) The dull routine(A) has broke; you discover that, 2| AEf7L Ol A 2[QFHA “Cto|ofE Fo|MQ?7Et 1 UStL of2{ R
unbeknownst to yourself, your presence makes a 2 Y Yo 2 AR FRich of7|A of2fE2 Ao BT 2ol
difference(B). Leaving the shop, instead of dragging of2f{o| 2o1g HiER| 7|5 HE o2 S Yoter| s £
with fatigue as usual(A), you realize your mood has 2t A7t 2| 2ot Qifel S0l e, A E R aA| of
lifted a little, thanks to the reaction you received(B). 22| 27t F2oithE AE LA Hoh 2 7S HAMTEA o
Buber would say that this exchange was 1-Thou(B). X =2 oizol| Y52 S5 §2ols tinl ool e s

(B) Then, one day, instead of a muffin, you order a whole
wheat bagel with no-fat cream cheese. The barista
smiles and comments, “On a diet?”(B) and you are
taken by surprise, to the point of embarrassment. Here

you thought that the counter clerk did not even
recognize you, let alone remember what you eat.
(C) You place the same order each morning, get the same

stuff, throw down the money and pick up the change. V
ocabulary Test
This automatic, mechanical, “It’s early! I'm sleepy!” I y
interaction(A) with the person behind the counter is A (el 1. ~2 3fsict
the kind of relationship Buber would call I-1t(A).
* thou: 4, 4! ** unbeknownst; ~& & 2 7| 2. astop 2.527|
3. dull routine 3. TS
O @A) - (©) - (B) @(®B) - (A - (©)
@@ -© -’  ®© - A - (B 4 e 4. 2
®(©) - (®) - A 5. drag with fatigue as usual 5. B/JAIXHE T[22 2|}
6. exchange 6. (d%) ust
Ts 7. let alone 7. not to mention(~2 & 7= gl 1)
8. automatic 8. 252!
Fo2l F: LE-H(B) / L-O7(A) 53, oAl AR
9. mechanical 9. 7|AA<!
(B) or (C): Instead of a muffin, 51245 9fof| o|o| |7t5 2 ZGCH= 10. interaction 10, AbgAFQ
Ligo| Ligtofoh (C)Srafo 2 ofA| AJZL. ' neT e
11. 11.
(A) or (B): (B)Tf2olM BE =5, (A)THEollM oA[E 2[5t
op22|ato 9k, 12. 12.
13. 13.
T2 4.
14. 14.
s 15.
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15, 30] 5502 Mo}, Fo7 o] Sol7r|o] A4 Hd

It is discipline(S) inasmuch as your teen is learning that

when he chooses to go out side of the rules, boundaries,

family contract or law(P), there are also consequences.

Discipline through logical consequences(B). ( @ ) The

idea here is to try to teach, usually through logic(B), ways
your teen can learn the connection between his choices and
his actions and behaviors. ( 2 ) This is not punishment(A).
( ® ) For example, by choosing to violate a curfew, your
teen also chooses to lose his freedom to drive the car. (@)
Or if he won’t put his helmet on while skating (even though
you have nagged him repeatedly), then he forfeits skating
for a prearranged time period. ( & ) Good discipline
spells out the consequences ahead of time and then

enforces the rules without question.

* curfew: H7F AIZE ** forfeit: (A5, W] 52) vretdsict

Shean.T’s Commentt
F0iZ1 24t ofo| 50| ~~ 5} o|HHA| HCh= Ego|ch, Lo F3.
ofo|Zo| M7 o7 AZ P, 52 SE §]of ECt

gapo| LAZIC7 | ELt, 38 & For example2 o F4fol| CHgt oflA|
QlE|, & 42 ‘not punishment’2H= F740[7 (o] Fof| X{tHo| ofL|Cf,
2h= ofA |7t Ltefof 2fl Ard 20| 2% R| ofCt. E Gt ‘not’ol| FE5IH,
not A, (but) B2| =2|2 Foi2l 40| «(But) itis B!!"E Lot Q/Ct

£ 742 Tefsof Tk,
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| Vocabulary Test

1. inasmuch as 1.~0|B02

2. discipline 2. E5olct
3. punishment
4. violate 4. ~S of7|Ct
5. prearranged

6. spell out

(o] 49
7. enforce a rule 7. 2= Al=gsict
8 8

9 9

10. 10.

11. 11.

12. 12.

13. 13.

14. 14.

15. 15.
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=
x

16. ol 2 thgofl o]olA 29 &A= M - A 1 22F MiA| chd &2f, HIDF3 At B2 o}l Rliof3olM A
BAL. flHle 2 BfolA|A 152 F3MCh L= §I0f3 AtgbE2] ool
S8l BT HHE 71|12 QICtD of7| nAM, REiQIES HAHE

During World War 1I, the Danes saved many Jews by ztob7| 25l EHT| Tai%l 7HES o|25}7| A|RIGHC], o] JHE
sailing them from Denmark to Sweden. The Nazis realized 2 o2 2{Lo| QlojA| SLHOIES 47| Oro MAMS 7 Eo| £0]
that the Danes’ fishing boats must have hidden ol 3o| 0|1 olof Xof =2 Tof T SCHOISo| LHAHE ate A
compartments(P), so they began using specially trained oJoict, 12|ato] AQHIl 25t tEL 1 JHE0| SLiIES WHAHR
dogs(S) to sniff out the Jews. Aol 4 QI ot= ®HE ZHEZCE 252 ot E7| |t 37t
ez PhE EU HEFZ ThEofdlict ok TE THEE AU,

(A) When the Nazis came around with their dogs(P), the J7450| 7o HAME T o, F7iQlo] 2RF2| 5245 2o
fisherman would find a way to let the dogs sniff their Al SYct. ®Iot3 off 52 £H HES 2T &40 51 o7

=2
handkerchiefs(S), perhaps by “accidentally” dropping AIRSICE. L7t 7S 2 El2
them on the ground. L d

(B) These dogs(S) were so gifted that they could smell the
Jews even after they had been hidden and a load of fish
had been dumped over the entrance to their hiding
place. Therefore, Swedish scientists developed a way(S)
to keep the dogs(P) from sniffing out the Jews.

(C) They created a powder made of dried rabbit blood and
cocaine(S). The dried blood attracted the dogs, and
when they sniffed it, the cocaine dulled their sense of

| Vocabulary Test

smell. Danish fishermen began to carry handkerchiefs
contaminated with the powder(S).

1. Danes 1. Danish(§I0f32215)
* sniff out: ~& WA 2 Zroluich
** cocaine: D711 (coca] A ollA] xZ sl ubH A, npek) 2. Nazis 2. Lt=]
7ok
@ (A) — (C) — (B) @ (B) — (A) — (C) 3. compartment 3. 7t3fo|
®®B)—(C) — A @ (C)—(A) — (B) 4. accidentally 4. 8|
®(C)—(®B)— (A

5. gifted 5. 250 U=
6. be dumped over 6. ~Of| B{24x|cf
7. dull 7.~2 SL|A st

Shean.Ts

8. handkerchiefs contaminated 8. 23 &47
Fo2l Z: Foizl Zo| 57471 7tafo|= P, 752 SZ L] YA

Mg A2 4 oloh 9. 9.
(B) or (C): JtH2 (B)Lt2f these dogsE ©|ofz|1, (B) Trztol 10. 10.
Swedish scientistsol| A= ©| dogs?} PoiA{ 0| & B2 SE JHelst 5} - 1
3, | |
. o =10 12. 12.
(A) or (C): 1 S7f (C)2] m2Ho| 1, (C)2] oz |2zt (A)2] *-20f

handkerchief2 o|o{2|34A{ oF2 2|1 13. 13.
e @, 14 14
15. 15.
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17. Foi% 2 o430l o]ojd 29| ¢A R 7P HA Ag 1 S H|EE 87| B2 & H|E7F T Ho|Lt B2|&= 5 E cp2a)
2AL. Zol, o| EEH 6-6-42t H| oA A47! L3S £aF M| ZHE HAISH
10 Qlef of Ml £ak= NPK B|(th)zte =2|0f B8] M| 72| 2
A bottle or bag of fertilizer, whether synthetic or organic, OJOFA L Z (O AACHZ) A4, 2l ZhEo| AfTHA H|8-S LIERA
usually displays a set of three numbers that look something C} Al22 o|7{S olof| Bk O|2f B7| 2} BHx|Ao| oJofa 2 L9
like this: 6-6-4. 2 of2|Qt o| A E0| M| 712 F 2Tt L Ao|Ct of RS IR
of 27l H2 YXYH BY & QUCh SR &3] f19] =2HE
(A) As an example, leafy plants prefer nitrogen-rich ofgligte A2 Y-S floh Mgt vlE BHYE AEio= AE Eof
fertilizers for growing healthy and green, so choose a & Zlo|ch. TF712| of| &, 9lo| W2 AlE2 st FE2H 22}
mix that shows the first number listed (nitrogen) as the Qo A7t EHEHH|E S ATotE 2 BA|T & MR £2H(HA)E
highest. A balanced fertilizer has an equal proportion 7P = Ak otE iR 2 AdEistat 35 ARl BlEE M YgLrt
of all three nutrients and can be used as a general all- BE 453 lER 4lof QlofM URFQl e H|g B AHEE £
purpose fertilizer. No sweat. AEE o2 #12 YolEt
(B) These three numbers are called the NPK ratio and refer
to the relative proportions of three main nutrients in
fertilizers: nitrogen, phosphorus, and potassium (in
that order). Plants require a host of trace minerals and
secondary nutrients beyond these, but these are the
three biggies.
(C) This numbers business can seem like an added
chore(P); however, understanding the numbers on the
bag will help you choose the right fertilizer mix for the
°a9 | Vocabulary Test
job(S).
* phosphorus: 1 ** potassium: ZH& 1. fertilizer 1.H2
DE-©-® @B @ 2. synthetic =
®E) -0 —-® DO -@W—® 3. organic 3. 77152
®@©)— B —®A
4. equal 4. 553
5. no sweat 5. A& & B7|(o] BiZlof|A])
Shean.T’s Comment: 6. ratio 6. H|
o H o
20{21 2 b|20f| 37H2| 227t BA|E| =Tt Zol g, 7. proportion 7.8
8. nutrients 8. 9L &
(B) or (C): AP (C)9] ‘o] £2FE o7 = Yol ok & A= gle
Lt, (B)2| These three numbers7t L& Z42atch A2 742 9. nitrogen 9. 44
_ 10. a host of 10. a lot of
(A) or (C): (C)ollM o 2t o7 |= Yol P 2|7k S2f1 ol 11, 3
S(o|)oll chigh oA S (A)llM AAlBt OfR2]. 11. biggies 11. 2 R&, 8% 4=
cro g, 12. an added chore 12. 27142l o=
13. 13.
14. 14,
15. 15.
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18. 29 52 = Ho}, Fo|Z £7o] Foj7}7]ol 7H¢ - HdE ol8dte 7192 HAa Y ez e Qlrt of &Y
IS 12N ofiME 7ot H2 At 5T Ao s EAT /25 A
TAZIEt of b 2 AlThol| 7479t A S| gF ofoF7| £ siof of
] . =g, 3 olof7|7t A& 7He| 2 JHEHo 2 JAJE|of Qlct TRt

As you pass the first familiar landmark on that walk, you 2 ol hst A _HOE_H o T e TDO ~ j o,

. . otF Qla et ARl B11 QICkD Af4datr |2 Bt £oth 2 4zl
develop an image that somehow connects that familiar 1] 51 BB QlATH 2[R 2-S |t T 1 04Tt 2|H|2L ofop|
landmark to the first point in your speech. o| 24 Hmf Q M} ofEH|E 9374A|7|= o|0|z|2 BEELC} of| 2 Sof,

M7l ME2Q] S217F U LER2| o|o|z|= ofo|Fo| ofH miRE F
A mnemonic device that uses imagery is known as ‘the off 32 A2 F71 Alfstor the 23 7Ishs o £30l
S 4 Qlct o|of7|o] Zt R XS R|YYR|Fof THLIM A7 | = o|0|R|E
method of place.” Here you form an association between + W ol s 7% |E_ Aals o= i l %12
) . Ct 25 TH7k| o] Ao 2 ALSICh O3 Z o[of7| & & w7t
something you want to remember(A) and a particular (B, 0 0JATHABHS 5T OJChT AAISE|at Bi Eict,
location on a familiar walk(B). ( @ ) Let’s say that you
have to present a speech about healthy eating habits in one
of your classes(A) and that your speech consists of seven
main ideas. ( @ ) You simply imagine yourself taking a
very familiar walk(B). ( ® ) For example, the image of a
tree with a nest of baby birds could help you remember that
you have to begin providing healthy foods when children
are young. ( ® ) You continue in this manner until you
have developed an image connecting each point in your I V bul Test
. ocapuiar es
speech to a landmark. ( & ) Then, when it’s time to y
present the speech, you simply imagine that you’re taking 1. association between A and B 1. A2} BAto|of| 934t
that familiar walk. 2 consist of 2. ~2 At
* mnemonic: 7] & F&
3. in this manner 3.0l2{3h Ao g
4. landmark 4. 72 1F
5. 5.
Shean.T’s Comment 6 6
_ 7. 7
Foll Z4h 83 L2 'that walk.” f Z4ofl of™H walk?F G4
of B}, 8 8
9. 9
ABE Y1 &= FotER g{ofui247IT7} For exampleofd
917}, 3 o SAFL ' 4T AMY " 2 FICH AR HOIE| 34 5 10 10.
AL FAHH R ofn|z|7F E&o| HLts oAl gapZ 7|1 38 11. 11.
off Foi2l 22+g d ot avery familiar walk”} that walk 2 o]o{%| "
12. .
1, Foi2l 20| image CilA|7t 3¢ F FA!
13. 13.
B 14 14.
15. 15.
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